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QUESTION 1

Which SQL statement will retrieve the department number (WORKDEPT) and the highest salary (SALARY) for each
department in a table named EMPLOYEE and arrange the result set in ascending order by department? 

A. SELECT workdept, salary FROM employee GROUP BY workdept ORDER BY workdept; 

B. SELECT workdept, MAX(salary) FROM employee ORDER BY workdept GROUP BY 2; 

C. SELECT workdept, MAX(salary) FROM employee ORDER BY workdept; 

D. SELECT workdept, MAX(salary) FROM employee GROUP BY workdept ORDER BY 1; 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/SSPT3X_4.2.0/
com.ibm.swg.im.infosphere.biginsights.commsql.doc/doc/r0059224.html 

 

QUESTION 2

Which of the following describes OLTP workload rather than an analytics workload? 

A. Extreme data volume 

B. Temporary or intermediate staging of data 

C. Set-oriented processing and bulk operations 

D. A large number of short, discrete, atomic transactions 

Correct Answer: D 

Reference: http://www.ibmbigdatahub.com/sites/default/files/document/IBM-Netezza-Understanding-Analytic-Workloads-
eBook.pdf 

 

QUESTION 3

Given the following CREATE VIEW statement and sample data; your login id is "ROGER". What will be the result for
this query? 
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A. 6 

B. 5 

C. 4 

D. 2 

Correct Answer: C 

 

QUESTION 4

What is the purpose of an auxiliary table? 

A. To hold the data for a column that is defined in a base table 

B. To hold only XML data 

C. To hold data temporarily 

D. To store rows that are deleted from another table 

Correct Answer: A 

Reference: https://help.sap.com/doc/saphelp_pd1655_data/16.5.5/en-US/c7/
cbf3e96e1b1014a434a1a425666017/content.htm?no_cache=true 

 

QUESTION 5

Which command displays the DB2 catalog level and migration mode? 

C2090-320 PDF Dumps | C2090-320 Study Guide | C2090-320 Exam Questions                                3 / 7

https://www.pass4itsure.com/c2090-320.html
https://www.pass4itsure.com/c2090-320.html
https://www.pass4itsure.com/c2090-320.html


https://www.pass4itsure.com/c2090-320.html
2024 Latest pass4itsure C2090-320 PDF and VCE dumps Download

A. DSNC DISPLAY 

B. MODIFY irImproc, STATUS 

C. -DISPLAY GROUP DETAIL 

D. -DISPLAY DATABASE (DSNDB06) 

Correct Answer: C 

 

 

QUESTION 6

Which of the following are valid objects created using DDL? (Choose two.) 

A. PLAN 

B. PACKAGE 

C. DATABASE 

D. SEQUENCE 

E. USAGE LISTS 

Correct Answer: DE 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0023321.html 

 

QUESTION 7

In order to run a DB2 program, the user issues the following commands: 

TSO prompt: READY 

USER enters: DSN SYS(SSTR) 

USER enters: RUN PROGRAM(MYPROG) 

USER enters: END 

What is the result? 

A. DB2 does not allow these commands 

B. DSN command can not be used to run a program 

C. Start a DSN session with DB2 subsystem SSTR, run a program and end the DSN session 

D. Start a DSN session with system parameters SSTR, run a program and end the DSN session 
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Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/comref/src/tpc/ db2z_cmd_dsn.html 

 

QUESTION 8

Which type of constraint is NOT enforced by DB2 during SQL processing? 

A. Check 

B. Referential 

C. Primary key 

D. Informational referential 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_9.7.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020149.html 

 

QUESTION 9

The following warning message is issued when the last available active log data set is 5% full: 

DSNJ110E -LAST COPY n ACTIVE LOG DATA SET IS nnn PERCENT FULL 

What will happen if you ignore this message? 

A. DB2 will shut down if it reaches the 100% full condition 

B. DB2 will overwrite the oldest archive log without archiving 

C. DB2 will stop any activity that requires log writes if it reaches the 100% full condition 

D. DB2 will automatically allocate more active log data sets as long as there are still less than 93 of them 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/msgs/src/tpc/dsnj110e.html 

 

QUESTION 10

Assume DELETE triggers exist on the employee table. Which of the following statements will delete all the rows in the
employee table and ignore any DELETE triggers? 

A. TRUNCATE employee; 

B. DELETE FROM employee; 

C. DELETE FROM employee WHERE...; 
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D. TRUNCATE employee RESTRICT WHEN DELETE TRIGGERS; 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/sqlref/src/tpc/ db2z_sql_delete.html 

 

QUESTION 11

Which of the following SELECT statements returns a different data value than the other SQL statements? 

A. SELECT MONTH (CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1; 

B. SELECT EXTRACT(MONTH FROM CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1; 

C. SELECT LPAD(LTRIM(SUBSTR(CHAR(CURRENT TIMESTAMP(10)),6,2),\\'0\\'),11,\\'\\') FROM
SYSIBM.SYSDUMMY1; 

D. SELECT TIMESTAMPDIFF(64, CHAR(CURRENT TIMESTAMP ?TIMESTAMP(`2016-01-0100.00.00\\'))) FROM
SYSIBM.SYSDUMMY1; 

Correct Answer: D 

 

QUESTION 12

A summary table can be easily maintained using which of the following? 

A. An auxiliary table 

B. A partitioned table 

C. A bi-temporal table 

D. A materialized query table 

Correct Answer: D 

Reference: http://www.informit.com/articles/article.aspx?p=2755707andseqNum=3 

 

QUESTION 13

Which of the following coupling facility structures are used by DB2 in a data sharing environment? 

A. List structure, DB2 logs, and group buffer pools 

B. Work file database, list structure, and virtual buffer pools 

C. Lock structure, shared communications area, and group buffer pools 

D. Lock structure, shared communications area, and bootstrap data sets 

Correct Answer: C 
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Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=3andved=2ahUKEwikgLD
R8PjAhXVShUIHRDyAjMQFjACegQIBBACandurl=https%3A%2F%2Fshare.confex.com%2Fshare%2F116%
2Fwebprogram%2FHandout %2FSession8629%
2FSetting_up_DB2_data_sharing_the_easy_way.pdfandusg=AOvVaw3ltuSTxQJGT7jqxb8ZY-aq (15) 

 

QUESTION 14

Which of the following statements about a table with a LOB column is TRUE? 

A. It doesn\\'t need an auxiliary table if it has an inline LOB 

B. It must also have a ROWID column and an auxiliary table 

C. It doesn\\'t need a ROWID column (implicit or explicit) if a LOB locator will be used 

D. It must be in a partitioned by growth (PBG) universal table space with a ROWID column 

Correct Answer: B 

 

QUESTION 15

A view is considered read only if which of the following is TRUE? 

A. The first FROM clause identifies only one table 

B. The outer fullselect contains an ORDERED BY clause 

C. The first SELECT clause specifies the DISTINCT option 

D. The fullselect includes a column of a base table that is defined as implicitly hidden 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0052327.html 
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